KEYSTONE RIDGE DESIGNS, INC.

670 Mercer Road | Butler, PA 16001-1840 KEYS]'ONE RIDG®E

Toll-free: 1-800-284-8208 | Phone: 724-284-1213 DESIGNS
www.keystoneridgedesigns.com

ASSEMBLY INSTRUCTIONS
COURTYARD TABLE SET

A

PLEASE READ THESE STEPS BEFORE PROCEEDING

Included with your Courtyard Table Set is the Following
Hardware:

Chair (pre-assembled by Keystone Ridge Designs)
- Four (4) 1 1/2" Black Glides
- Four (4) 1 1/2" Black Sticky Foam

Table

- Three (3) 1 1/2” Black Glides

- Three (3) 1 1/2” Black Sticky Foam

- Six (6) Plastic End Caps

- Three (3) 3/8" Stainless Steel Flat Washers
- Three (3) Stainless Steel Hex Head Nuts

- Three (3) 3/8” Stainless Steel Lock Washers

ABIDE BY THE FOLLOWING INSTALLATION INSTRUCTIONS

1. Match up holes on the underside of table with threaded studs
on the table base.

2. Place the flat washer over the thread then add the lock
washer and nut and tighten. The washer should be between
the nut and the leg.

Note: Black glides, black sticky foam and plastic end caps are
pre-assembled by Keystone Ridge Designs.

e Hw%‘“\\
/ / \\“‘-\ TABLE TOP
i \\ \
/ 7 /f// \\\\
7 ),»’Q\\ AN\ TABLE BASE
Iﬁf /r/ \E\‘{\, %\ \ \\
flr / / \\"\ ,”:f/’ " \\ l‘\
rd N = ‘\
/ \g N \
@
=

3/8" S.S. FLAT WASHER

3/8" S.S. HEX HEAD NUT



